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Lack of which of the following vitamins in.

humans may cause anaemia?
(1) Vitamin B2
(2) Vitamin By
(3) Vitamin B>
(4) Vitamin Bis

The vapour pressure of a pure organic liquid
(M = 80) at 30°C is 0.850 atm. A non-volatile,
non-electrolyte weighing 0.5g is added to 40g
of this organic liquid & then the vapour
pressure of the solution is found to be 0.845

atm. Calculate molar mass of non-volatile

electrolyté:

Iy 95

2) 32

3 170

@ o4
Among the following carbonyl compounds,
least reactive for neucleophilic addition is —

(1) Butanone

(2) Propanone

(3) Propanal

(4) Ethanal
A tertiary alcohol shall be obtained by reaction
of RMgX with -

(1) HCHO

(2) RCHO

(3 RCH.CHO

(4) RCOR

Assertion (A): Phenol is a stronger acid
than an alchol.
Carbon atom in phenol to
which -OH group is
attached is sp® hybridized.
Select the correct answer -
(1) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not
the correct explanation of (A)
(3) (A)istrue but (R) is false
4) (A)is false but (R) is true

Reason (R):

sEiforRag & ¥ 5w el & = 9
IRTTT A= H & "l &7

(1) I Bz

2 faefm B,

(3) ™= B,

@) fdeIf = Bis

30°C T TF fagg PTG 59 (M = 80) BT
I &9 0.850 atm T | TP J@TIENS RE,
IFITECH T 0.5g 94 40g §9 FEMNG T
A e a1, @ Rers & 9™ <19 0.845
atm U1 47| aTgEiel {9 sUEed &
AleR 919 9T FRA|

D 95

2 32

(3) 170

@ o4

uifeiag sEiNa el § Tife S8

gmraﬁs Iffhar ¥ de9 B9 fhania =

?

(1) SeAE

(2) 9EE

3) T

@ e

% ARG YedIEid WISl 8T &, RMgX @t

@;qT —

(1) HCHO¥

(2) RCHOW

(3) RCH:CHO¥

(4) RCORY

IR (A): T % Toplered @
e AF Y9 I
BT &1

BT (R): st d 9 oee
RETY] § —OH w8 eI
& 98 sp’ Goikd & |
e SR Al —

(1) =FF(A)R R)TF & 3R (R), (A)
P ST ] BT &

) 3 (A) SR (R) W § oG (R), (A)
BT S T T8l BNl ©

3) (A)TH B 3N (R) 39 ©

@ (A)ITT & IR R TH B

14-%
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6. In the reaction sequence - 6.

C,H.Cl—2 5 CH, =CH, —B 5 CH,Br
|
CHzBr

C

CH=CH+«2_CH,-CHBr

the reagents, (A), (B), (C) and (D) are -

(1) (A) = Alc. KOH; (B) = Br»; (C) = Hot
water; (D) = NH3

(2) (A)=Alc. KOH; (B) = Br; (C) = Alc.
KOH; (D) = NaNHz

(3) (A) =Aq. KOH; (B) = Brx; (C) = Aq
KOH; (D) = NaNH»

4 (A) = Ag OH; (B) = Cl3; (C) = Ale.
KOH; (D) = KNH-

7.  For a pericyclic reaction, untrue statement is - 7.

(1) The electron are reorganized in a
cyclic manner.

{2) The reaction is concerted.

(3) Reaction is highly stereo selective.

(4) The reaction is generally affected by

catalyst or by a change of solvent.

8. Identify the incorrect statement‘ about carboxyl 8.
group -

(1) Carbonyl carbon is electrophilic.

(2) Carbonyl oxygen is electrophilic.

(3) High polarity of carbonyl group is due
to resonance.

(4) Carbonyl carbon and three atoms
attached to it are in the same plane.

9. Among the following variables - 9.
(a) pressure (b) volume
{©) temperature (d) composition
Which ones are state functions?
(1) {(a)and (b)
2) (b)and(d)
(3) (©)and(a)
4) Allof(a), (b), (c)and (d)

! ny
afdfspar st — |
C,H.C1—2 s cH,=CcH, —B > CH,Br
!
CH,Br
C

CH=CH 2 CH,=CHBr

q (A), (B), (C)IR(D) & =
M (A) = TEIF KOH; (B) = Bry;
(C) =T Wit (D) = NH3
(2 (A) = Uewpreier® KOH; (B) = Bry;
(C) = Tedigiferd KOH; (D)= NaNHa
(3) (A) = Wig KOH: (B) = Bry;
(C) =vTelid KOH; (D) = NaNH;
@ (A = Ag OH; (B) = CIy
(C) = vepIgiferes KOH; (D) = KNH;
TH WiNTsfien affpar & ddy & s/
BT B —
@ ?ﬂﬁ’ﬂ asfies e 9 Janew
|
) gﬁ‘l]?ﬁm affera (concerted) Bidht
|
3) gﬁ%m Ie wWIRA Rafdeg
|
@ SIF e fomes oRada @
fafspar r: wvrfag 2kl 2
PEIE WE © Weyw A Ag  Hu
ugaE —
1) ;ﬁm‘fﬁa BET FeGL AT BT
| .
(2 FEiNa AFSH, SeeF—=E
Al
3 e DI ST gaal AgAE
@ BRI BT 2
@ FERAE FET ¢ gE9 g9 dFT

URHIY] U6 & W A B © |
smifafad ==t % —
(@ <M (b) ST
() (d) ¥EeT

B F IITRT Beld 57

(1) (a)3Rb)

2 ® 3R

(3) (©)8R(a)

@ T (2), (b), () SR (d)

14-2%&
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10.  1f > js an Eigen function of the operator 4. 10

what is the Eigen value?
1 2a

@ 2

(3) ezx

@ 1

11. When the bond order between carbon atoms in  11.

ethane, ethylene and acetylene increases, then -
(1) bond length and bond energy both

increase,-

(2) bond length and bond energy both

decreases.

(3) bondlength decreases and bond energy

increase.

(4) bondlength increases and bond energy

decreases.
12. Identify z — configuration -
CH3\ o H
® [
C
ca”” Npr
CH3\ C s Br
2 Ll
PN
ClL H
H \'C - Cl
3 [
PN
Br Cl
CHS\C /H
¢y [
C
B Nal

13. For the calculation of standard molar enthalpy  13.

12.

of formation of H20(g), the reference standard

state is not -
(1) 25°C temperature
(2) 1.0 atm. pressure
(3) H: and O, in gaseous state
4) STP

14. In Nessler’s reagent, the active ion is -

(1) Ag*

) Hg*
(3) [Heh]?
@ [Hgl)?

14.

A e Sifmex = BT MFT ot &, @
S 9 T 'Y

(1)
2
3)
@

2a
2

ezx

1

o9 T, TRRlE SR gRiee § @
TRATST & ey Bife # gig st B, Al —

1)
@)
3

)

g SaIE 3R 98 Holl SF g & |
Y o91S SR 98 FHor Al ged B
i
gl

z — AT YgAIY —

@)

2

&)

@

CH u
3\C/
11
C
a”” Nar
CH, Br
3\C/
1
'
a” N\H
H\C/‘CI
I
C
Br” Nql
CHg\C/H
L[
Br/ \CI

HOF ) & Eas @) Aok 9Md Teied]
BT IOAT BY, HeH GG ST9RRA T § -

@)
@
3
(4)

25°CdM™

1.0 atm. €19

H; 3R 0, =i smwen §
STP

TR AffpHe § TP IR & —

™
@
C))
@

Ag*
Hg+2
[Hghl >
[Hgl]?

14-4&
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15.

16.

17.

18.

Assertion (A): The nitration-of toluene
produces larger percentage of
para substituted products than
‘ortho products.

Reason (R): Tlie para position shows no steric

hindrance.

Select the correct answer, -

(1) Both (A)and (R) are true and-(R) is the
correct explanation of (A)

" (2) Both (A) and (R) are correct but (R) is

not the correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true
Assertion (A): The paramagnetic moments of
i La** and Lu?* is zero.
Reason (R): La** and Lu** have no unpaired
electrons.
Seléct the correct answer -
(1) Both (A) and (R) are'true and (R) is the
correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not
the correct explanation of (A)
3) (K) is true and (R) is false
{4 (A)isfalse and (R) is true

Who described the utility of audio — visual aids
in teachiing learhing process by his cone of
experiences?

(1) Edgar Dale

(2) Edgar Bell

(3) Edgar Brain

(4) EdgarRayn

Frofn the following information :
Hg() + Cla(g) —> HeCla(s), AH = — 224 J
Hg() + HgCla(s) —» HgoCla(s), AH=41.2J

15.

16.

17.

18.

AT (A): TGS B e[ T R

e swrg @ afireear
3ifell Seure #Y 3mEr ST
BRI B

SR (R):  &iredt Rerfa 3w fa=ardy s
SO Pt B

TqE ST A —

M <FiA) 3R R) w9F § &R R),
(A) B TE T BT
@ <Hi(A) R ®) §9 § ™Y R),
(A) B TEI ARAT T8} Bl &
3) (A) T & R (R),3¥T &
@ (A) 3 B 3R (R) 99 ©
If¥EAT (A): La®* 3R Lo g1 &1
SFTHEBT SMTEPT I ¥ |
BHRU (R): La®* &R Lu* H srgfqa saagia
S
e SR ufemmr —
@ Q) I ®) T E R _R),
(A) BT & T §
(2) <FI () IR R) 9 R (R),
(A) T FEI IRAT T BT &
3) (A) 99 & &R (R) 39 &
@ A)FMITIRER TF &
ey s ufbr @ SRM S-S
ARl B SUAIRET ST U+ 7 a Tq §RT
e guls fpar?
(1) TSR =
) TR 9
(3) TSR
@ TSR
arfiferea ga | —
Hg(l) + Cla(g) — HgCla(s), AH =—2241
Hg(1) + HgCla(s) — HgoCla(s), AH=41.2T

Calculate AH for the process — fwfhar & AH &1 o $Y —
HeaClo(s) — 2Hg (1) + Cla(g) HgzCla(s) — 2Hg(l) + Cla(g)
(1) -265217 1) -265.217
2) +18387F 2) +18387
(3) -183.87F (3) -183.817
@) +2652] @) +26527
14-2k Page 5 of 32




19.

20.

21.

22,

23.

Among the following steps in Hz & Br:
photochemical reaction, which one is an
inhibition step?

(1) Br;+hv—2Br

(2) Br+H,—>HBr+H

3) HBr+H—H:+Br

4 Br+Br—Br;
Among the following isoelectronic ions, which
one has least radius?

(1) Na'

2) O*

3) F

@ Mg
Who was the propounder of sociocultural
theory of cognitive development?

(1) Jean Piaget

(2) Jerome S. Bruner

(3) Lev Vygotsky

4 William Wundt

A molecule has enough electrons to fill
15 MOs. Which of the following statement
about this molecule is not true?

(1) The 15 MO’s with lowest energy shall
be filled first.

(2) The 15" MO on the list shail be called
HOMO.

(3) The 16® MO on the list would be
LUMO.

(4) The larger the energy gap between
HOMOs and LUMOs, more easily a
molecule’s electrons shall be excited.

Assertion (A): Lanthanides do not form amine

complexes in water.
Reason (R): Water is weaker ligand than
amine.
Select the correct answer -
(1) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(2) Both (A)and (R) are true and (R) is not
the correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true

19.

20.

21.

22,

23.

SENfeRad Ho 3R B, @ T NWEMS

Affspar & el # s FRvs gg 87

(1) Brz+hv—2Br

(2 Br+H:—>HBr+H
3) HBr+H-—>H;+Br
4 Br+Br— Bn

sreforRee HemaS IFT #, = B

ey 87
(1) Nat
@ o*
3 F
4 Mg*
Herrre e ® mﬁawﬁm
Rigia @ ufoues a9 97
(1) < I
(2) SRE THE. TR
(3) °9 IEICHD!
@ Rt gue
eﬂﬂ;%WlSMomﬁmw‘rﬁ
sﬁﬂgﬁ%imﬁ—r@amﬁaﬁwsﬂ
3o & forg w8 &2
(1) FAE Sl grel 15 MO Sa0RM W
SR |
(2 = 9 154 MO B HOMO e
SIRATT |
(3 9= ¥ 169f MO, LUMO BT
(4) HOMO X LUMO & %o fra=r
Holl 3R A R ST S
¥ gage S & SR |
AT (A): OISR Wit W VA e
& T B
SR (R): W7o, VI &1 3em gda forls
gl
|E SR YAl —
8} ?ﬂ?’r(A)aﬁ'\’(R)W%@rﬁ?(R)
(A) & GE ==y 8
) TFi(A) ¥R R) ¥ T Y R),
(A) 7 9 Rz TE BT 8
3 (A) ¥ g 3R (R) 3y #
@ QAITIEI R T ¢

14-%
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24. 36g of glucose, CsH120s, are dissoived in 2kg  24. 2kg Td # 36g IgdN, CsHiOs e & o
of water in a vessel. At what temperature (°C), ¥ 9o &7 TRFie (°C) |y B e
the shall boil? Ky for water is 0.52 K kg mol! & e & fo1 Kb = 0.52 K kg mol!

@ 273K 1) 273K

(2) 100.52°C (2) 100.52°C
(3) 99.948°C (3) 99.948°C
(4) 100.052°C 4) 100.052°C

25. The transition elements (3d-series) ion having 25. 3d—-2i°t & <HsHT ngeﬁ G D
the configuration given below, shows Efead WREAT BT BM W ST
Jahn-Teller effect? SE—CY THTd el ?*_Qﬁﬁ[ ?B";

@ d 2 &
(3) dlo (3) le
@ & @ & g
26. Identify the untrue statement about an 26. SoldoIdERD AfAHFAT Ef? a9y ¥, SNy
electrocyclic reaction - AT § —

(1) Itis an inter-molecular reaction. 1) I8 Th GIFR’—GT[ﬂEE IfAfrar 21

(2) A reactant converts into cyclic 2 uH ANEHe dEflae Sag ¥
product. gRafia & oI &1

(3 Iiis areversible reaction. (3) IE Up IoHAU AHfHAT B

(4) When it reverses, a 6 - bond in cyclic @) w9 sIfbar Red sxit 8 @
compound breaks to form a conjugated st e &1 16 o—d Teaw
T - system. T | —Red 9 e B

27. Which is not antihistamine drug? 27. wfi-fRemEa 7 8 & —

(1) Iproniazid 1) rEHFERTS

(2) Ranitidine () FRedm

(3) Cimetidine 3 fRefesm

4) Brompheniramine @  SrBFREE

28. NMR signal is generited due to absorption 28. NMR Waga fha faferor & sEwimor ¥

of - Jq B &7
(1) Infrared radiation (1) SR fHwo
(2) Microwave radiation (2) wEHEg fHwof
(3) Radio waves (3) e T
(4) UV radiation @ UV R
29. Assertion (A): Lanthanides may be used as 29. fHeE (A): AOEISS & §
biological tracer of drugs. ClEIRIEIGTS) ﬁﬂ'\’ $ wq |
Reason (R): Lanthanide absorption peaks are TR &R IF B
narrow and very characteristic. BRI (R): ?}?Q:Fi'ls%' P T fip Hepiot
Select the correct answer - Tg AERE B &
(1) Both (A) and (R) are true and (R) is the HE SR Al —
correct explanation of (A) (1) =FiQ) 3R R ¥ § &R ®),
(2) Both (A)and (R) are true and (R) is not (A) 1 Wl e Bl &
the correct explanation of (A) @ <t (A) 3R R) w1 & ®R),
. . (A) B T8 ARAT 81 Bl
(3) (A)istrue and (R) is false @) (A) T ? 3R (R) e 2
(4) (A)is false and (R) is true @ (A) e § R R) O & )
14- 'j* Page 7 of 32




30. Assertion (A):

Reason (R):

antacid over other metal

- hydroxides and oxides.
AI(OH); is insoluble and
does not increase pH over
7.

Select the correct answer -

@

)

3
@

31. In which of the following reactions, for 31.

Both (A) and (R) are true and (R) is
the correct explanation of (A)

Both (A) and (R) are true but (R) is not
the cc_)(rrect explanation of (A)

(A)is f?rue but (R) is false

(A) is false but (R) is true

replacement of diazonium group by a —Br

group, copper powder is used as a catalyst?

1)
@
&)
@

32. Crystal field stabilization energy for high spin ~ 32.

Sandmeyer reaction
Gattermann reaction
Reaction with KI

Reaction with HBF,

d* octahedral complex is -

@
e
3
@

33. Which of the following is the correct formula  33.

—-0.6 A0
-1.8 A0
-1.6A0+P
-1.2 A0

for systematic behaviour theory of Hull?

@)
2
3
@

S-0~R
S-E-R
S-A-R
S-I-R

Al(OH); is preferred as 30.

AMPAT (A): AWOH) & = &I
. M «

BT VLT Wiy A D WY

3P T¥E B B

Al(OH); 3ifdera & ©d pH

BT A 7.0 T e HE

TSIl B |

e SR BT II9T DT —

(1) =HI(A) 3R R) ¥ § R R),
(A) ®T 5 =T §

(2) sHFi (A) R (R) 99 B, =g R),
(A) B T IR=AT FE BT &

3) (A) T iR (R) o/rw &

@ (A) I\ € iR (R) ¥ 2

senferRaw arfaferaretl & fored srfEm

TIE & —Br 99 ¥ uforenfia o= 3 forg

PR oSN SORS B T § TANT &1 Biel

27

1) H=waR ffdhar

2@ e

(3) KI & 9y ifafsan

(4) HBF: & 4RI fwfsar

9o Ghul df AIHAP Hpa @ o

frea &9 wmieRe ol e # o9

DI A 87

(1) -0.6A0

(2) -1.8A0

3 -16A0+P

@4 -12A0

ffaRag § 9 @< s @ UOeES

@ER NG F1 98 93 87

(1) TI—B—3R

(2) THE—FR

(3 TH ISR

@) TE-IE-IAR

FHRT (R):

14-4
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34. Identify the R configuration - 34.
Ci

1)  CH,CILCH, CH,CH,
ey

H
CH,

@) H OH

CH,CH,

C-0OH
3

OH
CH,

@) HO H

CH,CH,
35. Which of the following is
characteristics of mentally healthy person?
(1) Emotional balance
(2) Socially adaptable
(3) Impatience
(4) Optimistic outlook

not the 35.

36. For the reaction N» + 3Hz — 2NHs;, 36.
if 28] _5 % 10 mol L' §-, the value of
Al would be —

At
(1) 1x10*mol L' 8™
2 3%x10%*molL!S!
3 4x10*molL™ s
4 6x10*molL!S!

37. Number of electrons that can be accommodated  37.

in all the orbitals withn +1=4.
1 6
2 38
3) 10
@ 2

R H¥=T ysdIfeg —
Cl ~

/
) eH;crIzcr;;;—Ié/cr;ZCHs

H
CH,

2 H . OH

CH;CH,
0
|

flioe

C-OH

3) 193¢ 7110
H CH,

OH
CH,

@) HO H

CH,CH,
FrafaRad # ¥ IR0 MR oY ¥ @y
=fe o7 fager == 87

(1) S Gger

() AHIE BU 4§ AqEHeA N

3) erefrar -

@ emmard gRepior

afafsar Na + 3H, — 2NH; & forq af
AR _ 9 x 1074 A e Q@vs gl @

ii[tf{—ﬂaﬂrrﬁ"a"ﬁﬂ—

(1) 1x 104 ellee wavs!
(2) 3% 10T e JHvs!
3) 4x 109 e dwrs!
@) 6x 107 9T die! GHveg!
n+1=43 T e § afwaq gaasEl
P g Bl —

® 6

2 8

3) 10

@ 2

14-%
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38.

39.

40.

41.

Among the following radicals, most stable
~radical is -

38.

) CH=CH _

2 CH=CH-CH,
R
[
3 R—C*
l
R
R
I
@ R—C*
[
H
Identify the untrue statement about substitution
— X group in CsHs -

(1) AG*for the reaction :

CeHs — CsHsX is close to zero.

(2) The addition reaction:

CéHs + X2 — CsHgXz is highly
endergonic.

(3) E. for formation of addition product
CeHsX> is higher than for the
formation of CsHsX.

(4) The non-aromatic product CsHeX: is
as stable as CsHsX.

On the basis of given AH and AS value signs
for four reactions, identify which one shall be
spontaneous at all temperatures?

(1) AH=+; AS=+

(2) AH=—; AS=+

(3) AH=-; AS=—

4 AH=+; AS=-

The incorrect statement about nitration of 41.
benzene is -

39.

40,

M IJ(IO2 acts as an electrophile.

(2) H,SO4 acts as an acid and HNOj acts
as a base.

(3) Nitration is an
substitution reaction.

(4) Nitro group has + I effect in directing
substituents.

electrophilic

SN Ietoi 3 waifts wrE & -

a) c}]2=éH i
@ CH=CH-CH,
R
[
3 R—C®
|
R
R
|
4 R—C-*
|
H

CeHs ¥ — X WHg & URRemTT & <y o
3T HU UEHINT —
(1) AG°®T 95 i -
CeéHs — CsHsX T 3T 2 |
2) IrTEF AfAfHT
gsHs + X2 — CsHsXp 3T Sotrgn)
|
(3) JMHB G CsHsXo T59 B B,
CeHsX 9971 351 30 92g &1
@) F—RFfCH ST ColHsXa,
CeHsX & aaF R &)

W TS AH 3R AS & 9 & e 9R

ARl & fomg, uft=mmi fF sehfolea &

DI W qf R e gRafad 2R

(1) AH=+; AS=+

(2) AH=—; AS=+

3) AH=-; AS=-

@) AH=+; AS=—

@%H@H%Wﬁmw

®n =+
NO, o el 8 @ WwE
TIER BT B |

(2) H:S04TH 317 I a¥8 N HNOs
Teh GG DI A8 B Heal 2|

(3) TSR TF TR -l wiReme
Afafpar &)

@) T W + 1799 B TER M
el FE R FRETAS Fuie STerdr

gl

14-2K
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42. Which of the following is not the component of 42, FIfeiRad § | PN HFHS Gl BT
emotional intelligence? HSH T8I B°
(1) Emotional perception 1) <iAfE gl
(2) 'Emotional integration (2) wRfE vdeee
(3) Emotional understanding (3) WRE g
(4) Emotional imbalance @) ETE S
43. Intramolecular hydrogen bond is present 43. T # 9 fa¥ sraxifta®d (Intramolecular)
in - EESIoH g9 SufRer €7
. (1) Water (1) <
(2) O-Nitrophenol 2 O-ArEsibHe
(3) P-Nitropherol (3) P_AESIbAl
(4) Methyl amine @ At e
44. Lineweaver — Burke plot is drawn between 44. T () &R Gexge Idr=dl [s] T g
velocity (r) and substrate concentrations [s] in g -39 wife f&F R "= s
which of the following ways? &7
@ = and[s] W 1 &)
(2) rand[s] ) r 3R [s]
@ I and > @) 1 1
r I<l r [s]
@ rand[—:i @ . L
[s]
45. Which of the following is the wrong 45. ¥Tgie & AR Frefaiead § 9 @4l
combination of instincts and emotions, as given o1 YgRT 3R AT & e dared 27
by McDougall?
(1) Escape — Fear 1) YT - 9
(2) Combat— Anger (2) JYA — B
. (3 Repulsion —Disgust 3) ﬁqﬁ:r — oy
(4) Curiosity — Distress @ R — o
- 46.- Which of the following is the highest stage of 46. fr=foReg § ¥ S TR gNT_¥ex
. cognitive development given by Bruner? HSHI® [T & garzg a<el &7
(1) Enactive stage D G gl
(2) Symbolic stage (2) VdlwHS 3Tawen
(3) Iconic stage (3 wiiemas sraen
{4) Sensory stage @) HIEY AR
47. The incomect statement about complexes 47. WNESH N 99 T¢ HEHa & way o
formed by lanthanides is - 3 P PBIA AT &7
(1) Hard donor ligands are preferred. Q) =S T feist @ weifear 9
(2) High coordination numbers are often STl € |
favoured. (2) U ST GEEd @ <@l ol
(3) 4f orbitals do not play a significant part gl , _
in metal-ligand bonding. (3) 4 HED f»ﬂg—[?l I e W Ri
(4) Aqua ions are typical and T gl
* : @) TEET I ufoed SR ye—uEl
6-coordinate.
) B €
14-4 Page 11 of 32
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48. Untrue statement about Michaelis Menten

48.

Constant Kp, is -

)
@

3
@

= ks

Km
Km equal to the concentration of
substrate at which the rate of formation
of product is half of the maximum rate
at high concentration of substrate.

K is an equilibrium constant.

K is a steady state constant.

49. The pH of a solution obtained by mixing 50ml  49.
of 0.4N HCl and 50ml of 0.2N NaOH is -

@)
)
€)
@

-log 2
-log 0.2
1.0

2.0

50. The teaching strategy, in which students of 50.

different intelligence levels in the class learn

together in small groups is called -

0y
2
3
@

Step learning
Brainstorming
Co-operative learning

Hierarchy learning

51. Highest oxidation number of nitrogen is 51.

in -
)]
2)
3
C))

NH3
HN;
NH:NH>
NH:0H

52. The tendercy of BF3, BCl3 and BBr3 to behave  52.
as Lewis acid decreases in the sequence -

AR BleRI—AeH ReNie Ky, & Haer ¥ sraer

P & —
O _katk

m =

2) Kn SH GIRC GFEr P R®ER &
9 W ST 999 B 9 Sedad
1 B e 2, o, e S &

3) Knvo 61 feikis 27

@) Kn TP IR0 v Renis ¥ |

U e 0.4N HCI 3, 50 et o 02N
NaOH &1 50 el fdas=s smm |
faeras @1 pH BN —

(1) -log2

2) -log0.2

3 1.0

@ 20

a8 fRwroregg v forad war # it gfg
wR & [Erl fieer sR-BR Ol ¥
EFR AR TR §, B § —

(1) ug IlRr™

(2) #ARGsF Sgon
3) ETHRI AREH

(@ USTIHA SR

fad AIREIoM &1 STaad SifadIeRuT Sid
&

(1) NH;

(2) HN;

(3) NH:NH:

(4) NH.0H

BFs, BCls U4 BBr; & g4 v &l Affa
GER PR B! YGRT HT TS 5 HH & —

(1) BF;>BCl;>BBrn (1) BFs;>BCl:>BBr:
(2) BCl3>BF;>BBn3 (2) BCl3>BF:>BBrn3
(3) BBr;>BCl; > BF; (3) BBr;>BChL>BF;
(4) BB1; > BF; >BCl3 (4) BBr:;>BF;>BCl;
14-24 Page 12 of 32




53. Ozonolysis of an alkene followed by reaction  53.
with Zn-HO yields acetone and formaldehyde.
The alkene is —

(1) Propene
(2) 2-Butene
(3) 2-Methylpropene
(4) 2-Peatene
54. ACICH2COONa =224 ohm™! cm? gm eq’? 4.
ANaCl = 38.2 ohm™! cm? gm eq’!
AHCI = 203 ohm™ cm? gm eq’!
What is the value of ACICH2 COOH?
(1) 288.5 ohm™ cm? gm eq™
(2) 289.5 ohm™ cm? gmeq!
(3) 388.8 ohm™ cm? gmeq!
(4) 59.5 ohm™ cm? gm.eq™’
55. When four litres of an ideal gas expands 55.
isothermally into vacuum until its total volume
is 20L, calculate the work done. Given
R =0.082 L atm 'K! mol!
(1) 04307
(2) 0.01627
3) 5.007
@ 00175

56. Standard molar enthalpy of the formation at 56.
298 K is not zero of which of the following?
(1) Br2 (gas)
(2) Ch(gas)
(3) Na2(gas)
4 Oz (gas)
57. Which of the following polymers is. not found 57.
in plants and animals?
(1) Buna-S
(2) Rubber
(3) Starch
@) Cellulose

ol g4 Rfe ¥ 5 =M ® W&ieF @
HHRCSESS STE WK 8 & | I8 Yoobid
g -

(1) =

() 2=EH

@) 2@

@ 29=F

ACICH,COONa=224 30! 9.2 9 gediep!
ANaCl = 38.2 3! 4612 UM gedie!

AHCE =203 3! a2 79 gedis
ACICHCOOH &T A 4T 87

(1) 2885 ! TAAUM Tedio

@) 289.5 sivT! SN2 U geAr!

(3) 388.5 3! (A2 U geuiep!

@) 59.5 37! YR2I™ g
E TP S T FT AR eiley RN G
W TR Far §, e A 99 9% e
20 eX TE B T, BRI BT A0 BRI |
f&m 8 R = 0.082 L atm K mol™!

(1) 04307

(2) 0.01627

(3) 5007

@ 007
sEifeRaa & fraat W¥a o A9 AleR
TRl 298 K W IA el 87

(1) Brz(gas)

(2) Cl2(gas)

(3) Na2(gas)

@) Oz (gas)
srefafaa ageret § B ol ok SRl
# & g S 87

O =LI-S

(2 TR

@ wH

@) A
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58. Maximum ozone found in the aliitude regionin  58. 9IgwSd ¥ $uiE Ol &% H IRIGaH AT
atmosphere is - T SIET 8 —
(I 0-10km (1) 0-10 f it
(2) 20-30km (2) 20-30 .
(3) 50-60km (3) 50-60 fri.
@) 80-100km @) 80-100
59.  Assertion (A): Entropy of a solid at 59, RFHY9 (A): TF I B WAGU W
absolute zero is found to be T T Ui o 2
Reason (R): lz\Ieli;}riber of possible states PR (R): W SR B
] for the solIin is one at ) SRRl B HET T ¢ |
absolute zero. Bl ST A —
Select the correct answer - 1) < (AR R EE T iR (R),
(1) Both(A) aI;d (R) are tfn(llz )and (R)isthe (A) T T8} IRAT 2
correct explanation o
(2) Both (A) and (R)are true and (R) is not @ aTa%A_\qu %}%ﬂ?ﬁ%;’\f@ R),
correct explanation of (A)
@) (A)is true but (R) is false (3) ()T & MR (R) 34 8
@) (A)is false but (R) is true @) (A)ITA ¢ 3R (R) ¥ &

60. Assertion (A): In the bromination of benzene, 60. IIRFA (A): 59 & SHFHOT &, SRS
the catalyst FeBrs is not added FeBrs &I 98 7T f¥enax
from outside but generated FifAfsar Msor 4 Br, @om
inside the reaction mixture by TR Dl Bie T AT
adding Br, and iron filings, I TN B

Reason (R): FeBr; readily reacts with BRI (R): FeBrs 981 & 9T digmar o fbar
moisture and rendered inactive. & ARfaEie 8 o B
Select the correct answer - el S A —
(1) Both (A)and (R) are true and (R) is the M) =FA) @R ®) T ¥ &R ®),
correct explanation of (A) (A) DI GEI ARAT FI &
(2) Both (A)and (R) are true but (R) is not 2 T IR R 99 & R),
the correct explanation of (A) (A) D HEI =TT wE HRen
(3) (A) is true but (R) is false 3) (A) 9 & 3R (R) er9<g 2
() (A)is false but (R) is true @) (A) 39 B iR (R) v 2
61. T and V represent the kinetic and potential 61. T iR V Wafdfag o~ & 7faa w9 Rt
energies respectively, then the Hamiltonian (H) Gol # HRE, A eRee T (H) o1 a9
is given by - BT —
(1) H=T-V (1) H=T-V
@ p=I 2 =T
v v
3 H=TxV 3 H=TxV
@4 H=T+V 4 H=T+V
62. Theincorrect statement about cyclopentadienyl ~ 62. R Hefgel FeCpz B
iron complex FeCp; is - T § Iy B & —
(1) Oxidation state of iron in FeCps is 2+. (1) FeCp, ¥ AIRRT H sifrfFHor
(2) Oxidation state of iron in FeCp: is AR 2+ 2 |
Zero. _ (2) FeCp, § IR DI sifaRiicpRor TRey
(3) It is also known as sandwiched T 2
compound. 3) S‘\'}f Hehia Aifre & Ped &
(4) Itis a metaflocene. @) e U YeardT 2
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63. In the reaction: 2 ~bromo - 2, 3 —dimethyl ~63. ARRHAT 2 AW - 2, 3 -SEFRATA T +
butane + RO~ — 2, 3 —dimethyl — 2 ~butene + RO~ — 2,3 —SEfese - 2 -2 + 2,3 -
2, 3 —dimethyl — 1 -butene. SRARIE - 1 -=EH
Maximum amount of 2, 3 dimethyl — 2 —butene 2,3 —STSiiengd -2 — T DI Haile® a9
would be formed, when RO is - g0, 19 RO &1 —

(1) CHi:CH.O™ (1) CH;CH:0"
?Hs CH,
b, _ I
(2) CHs—‘-(I:O (2) CH—CO-
|
CH, ch,
‘Isz CH,
- I
(3) CH.CH,— (130 (3) CH,CH,—CO~
. I
CH,CH, cHcH,
?H 2CH, CH,CH,
l |
(4 CHCH,— (130 (4) CH,CH,—CO "~
CH,CH, éH CH,
64. Consider the following reactions - 64. aEhfeiRaq sfafeaei | R &1 —
(@  Crystallization of a liquid into a solid (a) WP 59 ®T SN H fhecaiovun
(b)  Raising temperature of a crystalline (b) reeciy ST &1 9 # 0K 100K
solid from 0 K to 100 K TP i
(c) Dissociation of solid NaHCOs3 (© NaHCO; &7 fage
@ H2(g)—>2H(® (d H2(z)—>2H(g)
In which of the above cases, the entropy T{El'éj,‘cﬁ rRee T qadT 7
increases? ' '
(1) (), (b)and (c) only M @, (b) IR () baw
) (®), (c)and (d) only @) (), (©) ¥R (d) Bae
(3) All (a), (b), (c) and (d) B3 (@), (), © AR () TR
@ None of (), (b), (c) and (d) @ (), ®), (IR T I PR @ TE
65. Consider the following conditions of reaction : 65,  awlferRea siffhan Temeli W AR &< —
(a) Configuration of the reactant. (a) THIPRT & E=TAT|
(b) Number of double bonds in the reactant. (b) ThaERE ¥ fgsEl o TE|
(c¢) Thermal-or photochemical conditions. © a‘p_’ﬂ'q 31X Uehiel W'F’:lﬁ?ﬁ GEIN
The configuration of the product in a pericyclic SAE & G SRSl it 4,
reaction depends upon - R e & —
(1) (a)and (b) only 1) (a) 3R (b) Dae
(2) (b)and (c) only (2 (b) 3R () Baa
(3) (c)only
@) ©Faa
4) Allof (a), (b) and (c) :
@ ¥ (), )R O
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66. Incorrect

statement about

compounds is -

@)
(2)

&)

@

C-Li bond is highly polarized.
Organolithium reagents are strongly
basic.

Organolithium compounds are starting
material for the preparation of other
organometaltic compounds.

Carbon in organolithium compounds
attracts most of the electron ions and
resembles a carbocation.

67. Consider the factors -

(a)
(b)
(c)
(@

The magnitude of crystal field splitting energy

Valency of the metal

The principal quantum number of metal

Geometry of the complex
Nature of the ligand

Ao depends upon -

)
@
3
@

68. Assertion (A): The boiling points of carboxylic

(a) and (b) only

(a), (b) and (c) only

(c) and (d) only

All of (a), (b), {c) and (d)

acids are higher than
aldehydes, ketones and
alcohols of comparable mass.

Reason (R): Carboxylic acids have more

extensive association due to
inter-molecular hydrogen
bonding.

Select the correct answer -

ey
@

3
“@

69. The reaction between an o - bromo acid ester
and a carbonyl compound in the presence of

Both (A) and (R) are true and (R) is the
correct explanation of (A)

Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(A) is true but (R) is false

(A) is faise but (R) is true

zinc is known as -

organolithium  66.

67.

68.

69.

FEfaRrm AfRTe & Hae § g Hod §
f&s

1) C-Lidivs srafs giiga &1

(2) FHEfaRRm e s gea
&R% BRI & |

(3) wEfaRrm AfE o B
Wzﬁmﬁuﬂﬂtﬁaﬁiﬁﬁtﬁ
BT B BT & |

@ aﬁ%«@maﬁﬁaﬁﬁzﬁﬁﬁmﬂ
SOIgEl SMEAl Bl X% SIeiNd
TR & R U PpEideET ol
v BT 2

ENfafag BRPT W AR o=y —

(@) O B HASTDHAT

(b) oI B I FIcH A&

() Hpa o Ry

@ foris ot wofa

freca a3 Raafen il Ay &1 99 ffr

FIAT & —

(1) Bge(a) R b)) R

(2) B9 (a), (b) 3R ()

(@) @ad (©) AR ()

@) w0 (@), ®), @ IR =

AFU (A): BEITalIG 3l & FaeFiD
SR FH R & Ufesess,
PICH U9 TohIEld o 9=
B 2|
HROT (R): BIaiGalerd il o 31
gﬁ‘\’mﬁﬂzﬁmﬁ’lﬁ?éﬂ?@w
[
| SR Al —
®» =FiA) R ® W@ E @R ®),
(A) P 9 =T B
2) =Fi(A) ok (R) 91 & g (R),
(A) & I ARAT -8l &
(3) (A) ¥ 8 3R (R) 3w &
@ (A) ™ g 3R R) W 2

i o SuRefer § o - 991 vt teex ofix

U$G FEMNA e B Rifshar weady
3

(1) Blaise reaction (1) =i sAfdfmar

(2) Blanc reaction (2) diE AT

(3) Reformatsky reaction ® ReRicws s

(4) Clemmensen reaction @) T s
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i70. Physisorption is characterized by all of the 70. ifF siffriwer # smifafed @it Tor 8
. following, except - F fyag —
(1) reversibility (1)  Sspavfiaar
Y (2) low enthalpy ) = T
(3) high adsorption of gases with low @) = FifaE W (Tc) areh = &t
critical temperature =7 ey
(4) high surface area of the adsorbent @) ST B S= T &
71. Mustard gas is prepared by the reaction of 71. #ee T W 3q b sea &, ulel=
ethylene with - T — !
(1) AICls (1 AICL¥
(2) SOCI» (2) SOCL ¥
(3) ZnCl (3) ZnCL ¥
@) 5:Ch @ S.CL ¥
72. Conformations are  different  spatial 72, SHFHYL YRANR & AR el fawar
arrangements of atoms that result from - £ W S~ Bl § —
(1) Rotation about a single bond (1) TP UFH g8 ) sguﬁ J
(2) Rotation about a double bond @) up fEdy w peH g
(3) Reflection through a plane (3) TP GEGE & ST REGT o
(4) Translation along the single bond axis @) TP G TR RIRRT
73.  Which of the following atmospheric molecules ~ 73.  JENfoIRaa IIgHSHRT URIT # BT IR
absorb infrared radiation? forvon =1 Ty wwar 87
(1) Hz0 vapour 1 HmOodyw
2 0O 2 0
3 N 3) N2
@ He 4) He
74. Organotin compounds - 74. wE—fea diffie —
(1) are used as pesticides. 1) IRIEES B aRE WEd B 8 |
(2) are used as preservatives of wood. 2) <l Bl Bl Wﬁ I+ H ERER] B
(3) are used in the production of %VI .
polyurethane foams. 3 g‘i’:ﬁ?@ﬂ?{ w1 & Fmfer § g ER
(4) are not carcinogenic. _' ] ]
(4) DB TTEl B 8§ |
75. Untrue statement about Debye T° law is - 75. <915 T Fra @ ey A S $eF § —
(1) At very low temperature (0 < T< 15 Q) IRF=TTO0<T<I5K) W
K) Cp =Cv Cp:Cv
(2) According to this law : (2) U MA@ SR : Cp=Cv=aT?
Cp = Cv=aT* (3) FriEr T @1 9m A (T< 15 X)
(3) The absolute entropy at temperature RS9 B & Cp 3R InT & #1%
(T < 15 K) is determined from the A
graph of Cp versus InT. T T W &
(4) The absolute entropy is determined @ T © i ey F p T
from the graph of Cp versus T.
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77.

78.

79.

80.

81.

"A zinc rod is dipped in 0.1 M ZnSOs solution  76.

in which salt is fully dissociated. Calculate the
potential of the half cell :
Zn(s) — Zn**(aq) + 2e~
Given that Ey, .2+ = 0.76 V and - = 0.06.
@ 096V
2 082V
3y 070V
4 079V
Calculate AG at 300K for the reaction : 77.
2NO(g) + Oa(g) — 2NO:(g)
Given that : AH = —120kJ and AS = — 150JK-!
1) 165kJ
(2 -85k
3 825kJ
4) ~170k7
The osmotic pressure of solution containing 78.
1 x 10M acid is 0.248 atmosphere at 27°C.
Calculate the Van’t Hoff factor of the acid.
Given that R = 0.082 L atm K™ mol™.
(1) 1.00
2) 046 R
3 1.50
4 0.02

Which of the following, gas has maximum 79.
global warming effect? ~

1) CO:

(2) CHs

3) N0

4 CFC-11
Which one of the following statements is not  80.
true for complex [Co(NHs)s]>+?

(1) Itis paramagnetic.

(2) Itislow spin.

(3) 1Itis octahedral structure.

(4) Co is sp°d® hybridized.

Which is not the most common coordination  81.
number of Lanthanide?
1y 6
@ 7
3 8
@ 9

Qiﬁﬁri’cﬁ%aﬁOIMZnSOA,ﬁWﬁ@aT
T SR w9 59 faee # gl ﬁm’rl%lﬁ
g1 el Ja: Zn(s) — Zn?*(aq) + 2~

& {ma o oA B9, R § - /
Bpnyznz+ = 0.76 V 3R =006/
M) 096V
2 082V
@ 070V
@ 079V ¢

AfafsFar 2NO(g) + O2(g) — 2NO»(g)
% fog 300K R AG @ 9T BN
&9 8 : AH = -120kJ and AS-= — 150JK.

(1) 165kJ

@ -85K

(3) 82.5KkJ

4 -170kJ
Th 1 % 102M /e fGere &1 27°C W
RIRYT 9 0.248 TTHINGIR B | T &I
qre BB Ol BHI TOET By | I T 8
f& R=0.082 L atm K! mol

M 1.00

(2 046

3 1.50

@ 0.02
srnfaRaa It § foperesy vellger diffa warg
qaiSE 27

1) COo,

(2) CHa

3 N0

@ CFC-11
senfeRe demi iAW
[CoNH3)6]* & e ¥ /e &7

(1) IE STgHI 2|

() U8 == faT 2

(3) TE A=HABI T B |

4) Co, sp’d® dHRa 8|
SIISS @] HAitip WEF TR e
TR § —

@D 6
2 7

8
9

gl

3
@
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82. The non-bonding electrons of NH; are in 82. & % s—<f selast fa MO § iR?
which of the following MO?
@ 1a 1) la
() 2a @) 2a
3) 3a 3 3a
@) 2 @ 2 .
83. How does hydrogen fuel cell generate 83. TBISSIoM 389 Jol HY Aol S~ Bl
electricity? & -
(1) By combustion 1) <8 gF
(2) By fusion (2) ST BRI
(3) By fission (3) T grI
(4) By electrochemical reaction @) faaraate s grr
84. Consider the following reducing agents used 84. UF Ufeselss ® = aifiedesl gwr
for reducing an aldehyde - AR Hd §
(8 NaBH: (2 NaBH; N
(b)  LiAlH. (b)  LiAlHs s
(c) Zn-Hg/HCl (¢) Zn-Hg/HCI
(d)  KOH-Ethylene glycol and heat (d KOH-Tereliq Telsdiel 3 ag
Alcohol is obtained by - {1 N1 TowplEla urat Bam 87
(1) (p)and (c) 1) (B R (c) g™
(2) (a) and (b) 2 (2)3R(b)ERT
(3) (c)and (d) () (©3R()ER
() All(a), (b), (c) and (d) @ Wi (@), (b), (©) IR ()

85. Which of the following reagents is used in 85. oENfoiRag afrewsl o $im=m 1° 2080w 3°
separation and detection of 1° 2° and 3° I B TSI T4 YATHR F B 3Tl
amines? 87

(1) CsHsS0O2C1 (1) CeHsSO.CH
(2) NaHSO4 2 NaHSO42
86. Assertion (A): Fluorine shows only one, —1 86. fme (A): TN ueRig oear & dad
oxidation state, whereas other T —1 SRIEoT Jrg=er,
halogens show both positive SiiP 7 gl UMD
and negative oxidation states. TG IS S STTITHIT
Reason (R): Fluorine is the most sraend welfg oey &
electronegative element. HRYT (R): TN waiftie e g«
Select the correct answer - Eq
(1) Both (A) and (R) are true and (R) is the T SR ET_';[ _
correct explanation of (A) M <[EA) ¥R R) 99 § iR (R),
(2) Both (A) and (R) are true but (R) is not (A) & |E ==
the correct explanation of (A) @ ﬁ(A) IR ®) W_ g G R),
@ (A&)is true but (R) s fal (A) B! TE @ T8
(A) is true but (R) is false @3) (A) T 2 iR (R) IaT &
4) (A)is false but (R) is true @ QAITEEIRE@®) TR
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87. Regarding the substitution reaction Sn2 of an  87. U@ U Ufedhol BSE &) Uleeeas sty
alkyl halide, which has a halogen bearing group Sn2 # fored galior wnfia 89 aren W
attached to chirality centre, the untrue gl e wia s S geIgn & &
statement is - Heer H o H2F & —

(1) Order of reaction in, eachk of alkyl 1) R BIR e taxe R
halide and nucleophile is one each. RGBS TP A TP BFl|

(2) Both RX and nucleophile are involved (2) ©Fi RX 3R qﬁaﬁw HspHT
is transition state. IR T N & |

(3) The configuration of the product is (3) SUE H GGET RX B Il
inverted relative to RX. ufeli®d gl

(4) More than one stereo isomers are @ T W e Bfm e wu
formed. T |

88. CH COCIL CH, -CHO+HC1 88 CH, COCIL CH, ~CHO+HC1

) Pd/BaSO, ) Pd/BaSO,
The above reaction is called - Uil rfafrar ?ﬁ?ﬂ?ﬁ g -
(1) Reimer-Tiemann reaction Q) SER—<EA ST
(2) Cannizzaro reaction (2) DR kT
(3) Rosenmund reaction (3) q‘[@rrpjug AfAfEar
(4) Reformatsky reaction @ Rotice aftma

89. Which of the following technology isnotuseful ~ 89. F=fRad # | B aFH11b H+YeY TN
for implementation of Computer Assisted IR @ AT gy Suantt & &7
Instructions?

(1) Hardware Technology (1) TERR dBHIE

(2) Software Technology (2) dIiTedW® dhA®

(3) Courseware Technology B) DRIER TEND

(4) Training Psychology Technology @) uREY FEREN doue

90. For an elementary second order reaction : 90. TU%m URIAG ifAfFar : 2 A —» Sae, Bdg
2 A — products, the concentration of A reduces Pfc S B TIP URMS  Arsdr
from initial 0.2 x 102 mol/L to 0.05 x 10? 02 x 102 mol/L &1 49 10 fFe #
moV/L, after 10 min. What is the value of rate 0.05 x 102 mol/L <& ST & | sififdrar & &7
constant of the reaction? fradis @1 99 R/ 27

1 15L mol! min'? (1 15L mol! min’!

(2) 15x% 10% L mol™! min’! 2 15x% 102 L mol™! min™
3 3.0 %x10° L mol! min™ 3 3.0 x10% L, mol! min™!
4) 0.75x 102 L mol™? min™! @ 0.75x% 102 L moi—l n.lin-l

91. Branch of psychology dealing mainly with 91. ¥Hifde™ @ 98 e off qega: Rer #
problems, processes and product of education gaEel, ufshamel iR Sael ¥ deRa
is known as - g —

(1) Educational psychology 1) At wfae=

(2) Psychological education (2) "R R

(3) Animal psychology (3) WY e

(4) Child psychology @) ST TR
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92,

93.

94.

95.

96.

Among the following analytical reagents, 92.
which one is based on rare earth element?

(1) Ceric Sulfate

(2) Potassium permanganate

(3) Mohr’s salt

(4) Potassium dichromate

Consider the drugs for pain relief — 93.
(a) Morphine

(b) Heroin
(c) Aspirin
(d} Paracetamol

The non-narcotic drugs are -

(1) (a)and (b)

(2) (c)and (d)

(3 (c)and (b)

@) (a)and (d)

Which approach to learning holds that people  94.
actively construct or make their own
knowledge and ‘reality is determined by the

-experiences of the learner?

(1) Constructivism
(2) Behaviouralism
(3) Functionalism
(4) Structuralism

Which of the following stage of moral 95,
development comes under conventional level
as prescribed by Kohlberg?

(1) Ego - Centric Judgement

(2) Interpersonal Concordance Orientation

(3) Punishment and Obedience Orientation

(4) Universal Ethical Principle Orientation
Incorrect statement about CO» is - 96.

(1) COz3 has four vibration modes.

(2) Asymmetric stretch vibration of CO2 18
IR inactive.

(3) Symmetric stretch vibration of COz is
IR inactive.

(4) Bend vibration of CO; is IR active.

aEhfeiReT deafie sfiEHe! § BT o

el el ) ARIRG 87

1) IRF dowe

() U WAREE

(3) HIEX &qur

@) Ul sEHRT
IfaIRa TE—FaRe T9 W ER & —

(a) HBH

(b) T

(c) TRaRT

(@) tRert
EAE 8 —

1) (2) 3R (b)

2 (93R@)

(3) ()3 (D)

@ (a)3R(d)

e & o B giesdlr I8 9 T §
5 <7 Afthy ®T J AT S SRR R
g IR I8 araiaear Rl & sgwal 9
raiRa g 87

(1) TEEElR

(2) EERAE

(3) UBHGaE

@) EEEE ‘
fr=folRag § 9 @9 e e &)
I PIEATT §RT UG IR WR @
3Rl ST 87

(1) 3T g ol

(2) WER THHY Mg

(3) TS TAT AU STHEaAr

@) e A Rigia s
CO, & ¥4 H 3/ FoF & —

(1) CO; ® TR Sy faurd &t 2

(2) CO. D JFTAMT TT9 HUT SR
(IR) arfshareilel BIam & |

(3) CO, &1 G9HAT B ALIR. (IR)
Hfspareiia gt &1

4 CO; & §F ®TF ABIR. (IR)
forarefier gar 21

14-1&7
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973"

Con31der the'followmg processes - 97. eriforRaa wfkamsil W fER & —
(a) _:Addmon of -AgNO3 solution to KI () AgNO; faea= H Ki o= &
2 »L,solutmn e T |
(b). -Additionr of KI solution to AgNOs () KI oo &1 AgNO; emw 4
. solutlon ) Gl
© Addl‘flﬂn ‘of FeCl3 to excess hot water. ©) FeCl, &1 7§ el @ oneed ¥
_(d) _’ Addlthn qf -FeClz solution to NaOH R .
..The" pomtwely charged sol is formed in case ) %?Flc'll‘rsﬂl FI NaOH g
SV Of- ~;-‘;"a'( - .
=0 (1) (a) Olﬂy ) ' Wﬁgﬂgﬁ ﬁv_\‘lﬁ Eﬁ"ﬂ?
- (@)() and () ol G o
: Y @) BT (b)IN ()
(3) ( and (d) only k)] DIl (b) AR (d)
@ (a). and (c) only @) oaa (a) 3R ()
59‘8". ‘The bactenocxdal antibiotic is - 98. % § —
5 1) uf=fafeE
@) srEhe
() FENBFBE
@) sReiFER
99, 1 99, wﬂﬁm@aﬁmwmm%—
. 1) S
(2) oS
: (3) P A TE
@) T IR FOTHD P FHAR
100. “The pa 100. Mn?* IR BT SggEoE arrrq;rfr i
(1) 59BM
(2) 49BM
3 39BM
) 4 2.8BM _
"191‘. | 101, seifafad e’ w fER &9 -
(a) AHmix =0
(b) AHnix = RUNHR qA
J el . (C) AHmpix = g-IcHE A9
posmve value (d) AViix =EFTHS M
For a true rlutmn, the-cotrect answer is - T e @ R 98 SR ® —
(D) (@). % D @
v @ @ ©
@) (o) 3) (@)
S @@ @) @
102. Parameters belongmg o orthorhombic crystal 102, v wrawE fvved Fem 4§ Haflie RFex
. PR % -
1 ?C,q=ﬁ=y=90° (1) a:b:c;(’l:[’&:'}l:QO‘Jl
“‘%E“C‘;OL;!S'='¥=90° (2) a=bzc;o=B=y=90°
= () waEBEC;a=p= 90° v=120° (3) a=bw#c;a=p= 90°y=120°
oo @) asbEcla=p=yz90° 4 a=b=c;a=p=7=90°
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103. Arrange groups : 103. wEI N -
—-CH,OH, —CHjs, ~-H, -CH.CH,OH —CH>OH, -CHs, —H 31/ '—’CH2CH20H Eq
in decreasing priority for R-S configuration - Eﬁgﬁ . e ¥ ¥ —“351:[ 7 EReE R
(1) ~CH,OH, ~CH, ~CH,CHz0H, ~H (1) —CH,OH, ~CHs, ~CH;CH:OH, ~H
(2) -H,—-CH;, -CH;0H, —-CH,CH,0H (2) -H,-CH;, ~CH:OH, -CH:CH,OH
(3) —CH,OH, -CH;CH,0H, ~CH;, -H (3) ~CHOH, ~CHCH;OH, ~CHs, —~H
(4) ~CH>CH,OH, -CH,OH, ~CHs, -H 4) —CH;CH,OH, -CH20H, --CH;, -H
104. Wurtz reaction and Kolbe’s electrolytic 104. g aififrar vd wres, Rega—smae Ry
method cannot be used for the preparation of - BT WAFT & DY Ghd & T F —
(1) Ethane D =
(2) Propane 2 N
{(3) Methane @) 4= 1
{(4) Butane ) E{?‘I
105. Who was the propounder of Advance 105. W WISHIHS URHN & Yaae @ .
Organizer Model? o?
(1) Richard Suchman Q) =€ =i
(2) David Ausubel 2 MR I
(3) J.S.Bruner @ = T TR
(4) John P. Dececco @ < q S
106. The = - bonded organometallic compound 106. 7 — RG FEuTas AT forad el
which has ethane as one of it’s component is - SUPI U USH ©§ —
(1) Zeise’s salt (1) <N 4l
(2) Ferrocene 2) B
(3) Dibenzene chromium @) AN BifvEy
(4) Tetraethyl tin @) TR e
107. The paramagnetic behavior of ion 07 is 107. %TRFT 07 & SRS 0T BN ARAT B!
explained by - . : .
(1) Valency bond theory M 9 T
(2) VSEPR theory (2) dTwmsdem R
(3) M.O. theory 3) T g
(4) Hybridization of orbitals (4) TFEBT BT HebRoT
108. +8 Oxidation state is shown by which of the 108. owEifeiRaa wwaor angsit § +8 sifaefioor
following transition elements? sever f5as grt uslia &) oy 87
(1) Co 1 Co
(2) Fe (2) Fe
(3) Mn (3) Mn
@ Os @ Os
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109. Assuming that for a reaction 109. € 9 8Y b rMfhar
A(s) + X (aq) > A (aq) + X() A(s) + X (aq) > A% (aq) + X(s) B K¢ BT
K¢ is 2.0, calculate the standard potential of the M 2.0 §, A G a% q9F fava &1 99 SIRT
cell. GivenR—l;r = 0.06 Y| e & ﬁﬁ — = 0.06

@) 0.045V 1 0045V
2) 012V 2 o012V
3) 0.0090V (3) 0.000V
(4 0.0018V 4) 0.0018V

110. Which of the following shows geometrical 110. SEIfARed Al # BN e

isomerism? wEaaar feEmr 82
(1) Propylene (1) wifdei=
(2) 1-butene 2 1-=H
(3) 2 -—butene 3) 2- E‘]\aﬁ
(4) Isobutene (4) ma{a:[

111. What is the name of technology that employed 111, $E TH-IH BT 719 &1 & Sl 2T J el
activities involving information which include TRkt & fAEfa e & Sr
gathering processing, storing and presenting oAl § o7 Ueau W, YR
data, increasingly these activities also involve AR T B WA 2 9o ¥ =4
collaboration and communication? ik § TEarT AR gar o e &7

(1) Artificial commpnication technology M E I dHEE
(2) Information and‘communication @) g AR TR qEhE
technology & 5

(3) Intelligence combined technology 2431; gi% A A
(4) Virtual technology

112. Base not common to both RNA and DNA 1i2. gﬂm ST RNA 2t DNA s § S5 -8l

is - —
(1) Adenine ’ 1 e
(2) Guanine 2 R
(3) Cytosine (3) e
() Uracil @) IR
113. The reaction of toluene with Clin presence of 113, CL I TIgsa & WRI W[ T FHRT @I
heat or light does not yield — Soferfy § fobar | S Scaie FTEl a9l
?
(1) Benzyl chloride %(1) AT RS
(2) Benzal chloride (2) d9e wWIRES
(3) Benzotrichloride (3) STTETERES
(4) Chlorobenzene @) TR
114. The oxidation state of cobalt in complex, 114. Hahd [COHNCH;CH:NH2)3]2(SO4)s #
[Co(H2NCH; CH2 NH2)s]2 (SO4)3 is - PlETeS Bl IfTEHT G T —
@ + @ +1
2) +2 2 +2
3 +3 (3) +3
@ 0 (zero) @ 0T
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115. The conductivity of I1x10° M acetic acid 115. 1x1073 M tHied ma @ aerwdar // P
solution is 5x10~° S cm? mol’l. Calculate the 5%10% § cm? mol?! B Viifews smer @1
degree of dissociation of acetic acid, if molar oo & amr & T | R 2
conductivity of acetic acid at infinite dilution WiIfes a9 AR TieTwar aFg SEK]
be 400 S cm?® mol . W 400 S em? mol- ¥ /
@ 125 1 1.25
2 0.125 (2) 0.125
3) 001 3) 001
4 1.00 4 1.00
116. Based on the standard reduction potentials — 116, H¥H =T 999 & IR T¢ —
(a) AgFf+e—>Ag(s);+080V (a) Agt+e—>Ag(s); +080V
b)) Cr*+3e—=Cr(s);—074V (b) Cr*+3e—Cr(s);— 074V
(€ Cu*+2e—-Cu(s):;+034V (€©) Cu**+2e - Cu(s)s+034V
(8)] AP*+3e 5 Al (s); —1.66 V {d) AP* +3e — Al(s): —1.66 V
Identify the strongest reducing agent metal. AP ATARF ey UedH] |
(1) Ag (1) Ag
2) Cu 2 Cu
@) Al @) Al
@ Cr @ Cr
117. In relation to glucose, match Lists 1 and 2and  117. “q@ & wae & 0 1 ek 2 o7 o
choose the correct answer from the code given CRIRCIGTC AT ek I R i
below — -1 -2
List—1 List -2 (@) (Fres)
(Reagent) (Conclusion) (@ HI a} PRI o% @) \C -0
(a) Prolonged (i) Presence of qF AT - Gl
heating  with > =0 N SuRerfa
HI .
(b) Reaction with (i) Aldehydic ®) ggf @ e () \E'E SERIST
HCN Sc=0 ~C=Oggg
(c) Oxidation with (iif) Six carbon © Br WA & (i) TE-BET
Brz water straight chain NSAEEN] Wl sfEer
(d) Acetylation  (iv) Presence of @ R Gv) W= -OH
five —OH s )
groups Suierfa
Code - we —
a b c d a b c d
(1) iii i ii iv (1) iii i i v
2 i ii iv iii 2) i ii v iii
@ i iv iii 1 (3) i iv 1ii i
4 iv iii ii i @ iv iii i i
118. The number of possible monochloro structural  118. (CH3)CHCH.CH; ¥ G‘Hﬁﬁﬁ HEATHD
isomers from (CH3)CHCH,CH3 is - AR STl @Y 6 § —
(1 3 @ 3
2) 4 @ 4
3 5 3 5
@ 6 @ 6
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119. The formation of one mole SO3 from SO and
O2:
SO,(g) + %02 (g) - SO5(g) is exothermic by

97000 J at 300K, when the reaction is carried
out at 1 atm. pressure in a bomb calorimeter.

119. TH A SOz &1 SOy @ 0, ¥ |Ha+
S0,(g) +30,(g) = S03(g). 97000 &I
300K WX WMl g o9 a9l
Feidliey F 1 atm. TF W BNE TS| 59
affrar & f&IT AH &7 A9 @& 8RN

What is the value of AH for this reaction (R = 8.37)?
(R = 8.37)?
(1) 974901 (1) 9749073
(2) —96755] (2) -967557
(3) 9950017 (3) 9950017
(4) —982457) 4) 982451
120. ‘Which of the following statementis ot true for 120,  efifeiRaa ®emi # BiTam LCAO fafr <
LCAO method? forg wdr == 27
(1) Combining orbital must have the same D) TS T DT DI Sl A S1eraT
or:nearly the same energy. ST OIS M TR |
(2) Combining orbitals must have the ) e T HEH B TR, &Y
same symmetry about the molecular HeE % THE BN @Y |
axis. TRHTT - TRHTY
(3) A p;orbital of one atom can combine ) E;ﬁ a;arcﬁ_c‘g[r P 25% i
with p; orbital of another atom. @ P T @Eﬁ?ﬂ?ﬁ
(4) A px orbital of one atom can combine 3«? 1 N Px 1
with p. orbital of another atom, P BEP X GS WP 2l
121. Assertion (A): Nitrogen shows a maximum 121. S¥E (A): TR STaad L ESSDIN G
covalency of 4 whereas 4 yei¥ig svar & waie
phosphorus shows a maximum BEpRY 6 UeiRla svar 1
covalency of 6. BV (R): EEISH &I g T,
Reason (R): Nitrogen has-higher FRERE § aiftie 2l &)
electronegativity than phosphorus. FE TR T —
Select the correct answer - (1) < (A) IR (R) W™ # 3k ®),
(1) Both (A) and (R) true and (R) is the (A) P 98 IRAT 8
correct explanation of {A) (2) THI(A) 3R R) ¥ § WY (R),
(2) Both (A) and (R)-are true but (R) is not (A) B TE AR TE T
the correct explanation of (A) 3) (A) ¥4 T 3R (R) A S
(3) (A)istrue and (R) is false @ (A) o9 € 3R (R) 9 8
(4) (A)is false and (R) is true
122. Among the following complexes, the 122. 3EhiferiaT Hepall ¥, M sl & el
maximum AgCl precipitate shall be given Y geaad AgCl &1 S8 BiF TR
by - P?
(1) [Co(H20)]Cls 1) [Co(H20)6]Cl3
(2) [Co(H20):Cls] (2) [Co(H20)sCls]
(3) [Co(H20)4CLICI (3) [Co(H20)4Cl2]C1
4) [Co(H20)sClICL @) [Co(H20)sClICl2
123. Enthalpy of vaporization of benzene is +35.3kJ 123,  dqile &1 aT{IaHoT P ST THP FIRIAID
mol* at its boiling point 80°C. The entropy 80°C W +35.3 kI mol' 8, U9 SO a9 B
change in the transition of the vapour to liquid 7g & pa @ forg T & aRexd= 8w
at its boiling point (in YK 'mol ™) is - UK 'mol* #)—
1 -441 ) 441
@ -100 @ -100
(3) +441 (3) +441
4 +100 4y +100
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124.

125.

126.

127..

128.

Which of the following is not the characteristic

‘of communication?

1) Communication is dynamic
(2) Communication is continuous
(3 Communication is reversible
(4) ‘Communication is interactive

The half-filled and fully filled electronic
configurations are more stable than partly filled
configurations due to -

(1)’ exchange energy

(2) lattice energy

(3) ionization energy

4) ¢lectron affinity

Which of the following is a primary law of
learning given by Thorndike?

(1) Law of Association Shifting

(2) Law of Readiness

(3) Multiple Response

(4) Law of Partial Activity

In case of an ideal gas Joule Thomson
coefficient is ~

) Zero

(2) Positive

(3) Negative

(4) Infinite

A graph plotted between log k v/s /T for
calculating activation energy is shown by -

@
1
logk

ll'I‘ _—
)
logk i
| ur —*
logk
' 1T—>
@ I
logk —/\
1/T =—>

125.

126.

127.

128.

e
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129. Sucroseisa-
(1) monosaccharide
(2) disaccharide
(3) oligosaccharide

(4) reducing sugar

Which of the following metals
cathodic protection to iron?

(1) AlandCu

(2) MgandZn

(3) Znand Cu

(4) Aland Ni

Consider the following epoxides —
(a) 2 - ethyloxirane
(b) 2,3 -epoxybutane
(©) 2,2 - dimethyloxirane

130.

131.

129.

provide 130.

131.

The molecular formula C4HzO represent which

of the above?
(1) (a)only
(2) (b)only
(3) (b) and (c) only
(4) Allof (a), (b) and (c)
132.

The second order rate constant of a reaction at

132.

100°C is 3 x 10~ L mol™ s~1. Calculate the
value of the rate constant at 400°C. Given that
the energy of activation of this reaction is equal

to zero. &+
(1) 9x10*Lmol! s
(2) 1.5%10*Lmols™!
3 3x10*L mol™ s
4) 6x10*Lmol"s™
Consider the carbocation’s —
@

CH,-CH-CH, -CH,
{a) 1

CH,

133.

@
CH, ~CH~CH, ~CI,

Cl

)

@
© CH,-CH, —ICH—CH2
Cl

The most stable carbocation is -
1 @
2 ®
3 ©

@) (b) and (¢) equally stable

133.

P & TP —

(1) FTAEERSS

TRUIES

(3) slfiferikiavgs

@) ST wH

smifaRae argell § 9 W aRRT B ST
9§ HelifSs YRem el &7

(1) AlsiRCu

(2) Mg3RZn

3) Zn 3R Cu

4 AlsIRNi

sENfaRad siaEs difel | fTaR &< —

b 2,3 — T
©) 22— SEAREeiTRT
IV C4H:0 Sufarfea 7 el yeiRi
T 87
(1) adl (a)
(2) ael (b)
@ wEd B AR (©)
@ (@), () 3R (c) T B
100°C R O g Bife &Y afdfhar & o
frraie @1 w9 3 x 1074 L mol? s 8]
400°C W 7 Freie 99 @ B3| Rar &
5 s afufear 7 afbger Sl w1 AF
Nkl
(1) 9x10*Lmols™
2) 15x10*Lmol’s™
3) 3xI10*Lmoltls?
@ 6x10*Lmol!s?
R fIaR W -
®
CH,-CH-CH, -C
@ ¢ H, -CH,
CH,
®
CH, —(IZH—CHZ ~CH,

Cl

()

@
@ CHs—CH,~CH-CH,

Cl
Haiftls s FReeRT & —
1
2) )
3) (©
@) (b) 3R (c) T w9 ¥ R
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134. Which of the following d — orbital is an axial 134. EfoRag d — werl ¥ & o 3T
d — orbital? d- $&EF &7
(1)} dxy (1) dy
(2) dx (2) dx
3) d*- (3) de?_y? -
@) dy ) dy.
135, Which of the following molecule has scesaw 135, smifeiRaa srpell #§ fFad g smofy
shape? 87
(1) CIFs 1) CIFs
(2) XeF;s (2) XeFs4 -
(3) SFs ®) SK
(4) BrFs (4) BrFs
136. Among the following substitutéd aniline, 136. 3mEifIRET ufRFeIRT it ¥ waift®
which is strongest base? Hﬁﬁ B R? K .
(1) o- aminoaniline 1) o-— Qwﬁ:ﬁg—rﬁ?ﬁ:f !
(2) m - aminoaniline @) m-ERA
(3) p - aminoaniline 3) p- A
(4) p - methylaniline @ p- — IR
137.  The ty;of a first order reaction is 80 min. Inhow 137.  ue uorm B 9 e fo1g ty, w1 AN
much time the initial concentration of the 80 foie &, s aifafsar & v ore &
reactant, which is 2.0 mol/L, shall be reduced URME A7ET gfe 2.0 mol/LET dal T 999
to 0.25 mol/L? # 0.25 mol/L N SIRFf?
(1) 120 min * (1) 120 min
_(2) 640 min (2) 640 min
(3) 240 min (3) 240 min
(4) 320 min (@) 320 min
138. Which of the following has the highest packing 138. =1 % 9§ ®9uT S=adm EAC I G|
efficiency? - 27
(1) Simple cubic (1) <ERY ¥4
(2) BCC ) BCC
(3) HCP (3) HCP
(4) All have same efficiency @ =& ¥ 9ue gEar &
139. About RMgX, untrue statement is - 139. RMgX & €I ¥ a0y Ho & —
(1) It is prepared by addition of RX to an (1) 9T 94T RMgX &7 v faeirs
excess of suspended Mg in a solvent. F efag Mg & Gy AR =9
(2) The solvent used must be nonprotic g
polar. (2) Temgs smifes gd 8mr =Ry |
(3) It can be stored like any other (3) SEPI 3 THUAT B GRE GUT F%
ch.emical. ‘ . B |
(4) Itis the most important organometallic @ T® Mg @ AR W
compound of Mg. FreRaE W 2
140. The non-essential amino acid is - 140. IFITIE TE) ST & —
(1) Alanine 1) e
(2) Valine 2 e
(3) Leucine 3 Elﬁ’ﬂ?l
(4) Lysine @ ==
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141.

142.

143.

144.

145.

In which of the following colividal forms both
dispersed phase and dispersion medium are

liquid?
(1) Butter (2) Milk
(3) SoapLather (4) Cloud

The bond order of each C—-O bond in carbonate
ion is -

m 1 2 2
3
3 15 @ 2
Which of the following is not a step of system
approach?

(1) System analysis

(2) System design and development
(3) System operation and evaluation
(4) System engine

Human  development follows  certain
principles, out of following principles which is
not correct?

(1) Development is a product of
interaction between heredity and
environment.

(2) Development is a‘continuous process.

(3) Development proceeds from specific
to general.

(4) Different aspects of, development are
interrelated. ]

The electrophile E® attack’ the benzeiie ring to
generate the intermediate c-complex, of the
following which o-complex. is of lower
energy?

@ H ~

@

(3) NO,
@ |u
~ E

) NO,

141.

142.

143.

14,

145.

pifafag oassr wal § e <F
gﬁ%m@qﬁ@mwaﬂsﬁ
?

) wFET 2

(3) WgT B A (4) F&A
g@ﬁtwﬁWC—OWﬂﬁﬁ%
@®» 1 2) §

3 15 4 2

fefag § @ D99 WOTell 3IRTH 61 Ug
& 87

(1) Yol fgeryor
(2) YUl oY Q9 e
(3) WUl GaTa G4 edlh

SN BRAT

gﬁwﬁfl@ﬁﬁl@?ﬁﬁﬁaﬁﬁwmﬂﬁ

?

(1) TP R U9 SgaRea $
e ara: e &1 SR B

(2) faerg Taq uihar 2|

3

@

ogel Vgl E® IO 9619 UR kA0 PR
T o-Hgel e §, Ffafaa 49
ﬁﬂchaﬁwﬁﬁwaﬁ%?

m

@

&)

@
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146. Which of the following is the second phase of 146. FF=faRag § ¥ Hr) Joare Uiy
syntax of inquiry training model? Ui B e B gl s 27
(1) Encounter with the problem (1) 9997 BT GHAT BT
(2) Data gathering process for verification Q) g & R siiws &1 gue
(3 Formulating an explanation (3) TERT AT BRYT P IR BRoT
(4) Analysis of the inquiry process @) UBaw gikar &1 ey
147.  Cannizzaro reaction is not shown in which of 147. SRR afRfrar f 3 3 frad weflfa
the following? &l g /7 .
(1) HCHO (1) HCHO
(2) C¢HsCHO (2) CeHsCHO
(3) CH;CHO (3) CH;CHO P
(4) (CHs); CCHO 4) (CHs); CCHO
148. All of the following are characteristics of 148. SENfIRaT W0 wEfE O 459 # 1R
benzene, except - s € R —
(I) benzene is planar 1) <N Tl &
(2) there is complete delocalization of Yot R :
- electrons @ 7t ) WT N
(3) benzene obeys Huckel-rule @) 9 T P 1 wrer ¥
(#) C-Cbond length in benzene is 133pm @ C-Ca 3 o 133pm &R 8
149.  Absorbance of a solution of a solute is not a 149, HE Row & fAows @ SENILNIGE
function of - piifoRad % frget wer =} 7
D Amax -~ (1) Amax
(2) Concentration of solute @2 ey 9 g
(3) Molar extinction coefficient (3) R R ol
(4) Path length of the cell @ I & g IR
150. Which of the following element does not come  150. FraforiRad ¥ & #igar a9 Ry LEIESIE]
under scope of educational psychology? @ IRII &7 B T TS ey 27
(1) Nature of learning D) e 3 vy
(2) Growth and Development of Human 2 #AFg =g & Agly ek waET
Personality R
(3) Individual Differences @) $ofFE 9T
(4) Mental Disease @) FFERYE 9T
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